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Worksheet 2.2.
Limits: A Numerical and Graphical Approach

1. Use your graphing calculator to graph f(z) = comsza:.' Make a guess as to the value of
hl,:[(l; cc;szw. Construct a table of values for f(—.lj,f(—.(]l), J(=.001), f(—.0001), f(.1),
£(.01), £(.001), £(.0001). Estimate lim CO;"”
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2. Graph f(z) = m|z:1| What is the lgﬂf(:c) and liﬁl_ f(z)? Construct a table
of values for f(.9), £(.99), £(.999), f(1.001), f(101), f(1.1). What is the 1_1>r{1+f(x) and
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3. Using a graphing calculator, graph f(z) = sm —. Does if look as if hm f(z) exists? Con-

struct a table of values for f(—.1), f(—.01), f .001), f(—.0001), f( 1), f(.01), f(.001),
f{.0001). What do you conclude about lim Fla)?
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4. Using a graphing calculator, graph f (a:) = 1 (z). Con-

struct a table of values for f(—.1), f(— :L ( .001),f(—.0001),f(.1),j”_(}.Ol),f(.O(Jl),
f(.0001). Estimate lim Flal.
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